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TR — — — — — — — — — 0.5 0.5 — 0.5 — 1 0. 05 0.003 5
R2. 5. 26 10:40 2 26. 0 19.8  [HIKFRRAl MR >100 0.25 0. 94 T 7.8 1.7 0.5 0.5 3.3 3.1 2 6.5 0.27 700
12:40 2 26.0 20.1  [MRIKiEHRE MR >100 0. 24 0.76 W 7.9 8.0 1.3 1.0 3.5 2.7 2 6.3 0. 26 327
14:40 2 24.0 20.0 |RIKERRE]  ER >100 0.26 0.81 W 7.9 8.5 1.7 1.4 4.0 3.2 3 6.4 0.28 300
16:40 5] 22.0 20.0 |RIKEERRE) R >100 0. 40 0.72 W 7.9 7.3 1.9 1.4 4.2 3.0 3 6. 4 0.31 230
18:40 5§} 22.0 20.2  [RIKEEFRRE) R >100 1. 00 0.52 W 7.9 7.5 2.0 1.0 4.0 2.1 1 6. 4 0.30 103
20:40 £ 21.5 19.8  [BIKHHRE) R >100 1. 08 0.92 W 7.8 6.7 1.6 1.5 4.5 4.1 2 6.8 0. 32 73
22:40 & 21.0 19.5  [RIKERRE  HER >100 0. 89 1. 11 HE 1.8 6.9 1.5 1.7 4.4 4.9 2 6.8 0.29 178
R2. 5. 27 0:40 2 21.0 19.3  [RIKHRRE HER >100 0.53 0.61 W 7.8 6.2 1.1 0.7 4.4 2.7 2 6.6 0. 32 551
2:40 2 21.0 19.3  [RIKHRRE  HER >100 0. 59 0.71 HE 1.8 5.6 1.3 0.9 4.9 3.5 3 6.5 0.33 510
4:40 2 19.5 18.1  |[RIKHhkE  HER >100 0.98 0. 00 R 7.8 6.2 2.1 0.0 4.5 0.0 2 6.7 0.34 217
6:40 2 19.5 19.1 [RIKFRRE] HER >100 1. 09 1. 41 W 7.8 5.9 2.4 3.4 4.3 6.1 2 7.0 0. 34 110
8:40 2 22.0 19.6  [RIKHRRE  HEE >100 1. 00 0. 69 W 7.9 6.3 2.1 1.4 4.1 2.8 2 7.0 0. 32 128
10:40 & 24.0 20.0 |RIKEEFRRE) R >100 0.43 0.59 W 7.9 7.2 0.8 0.5 3.2 1.9 3 5.7 0.28 1870
R AE — 26.0 20. 2 — — >100 — 1. 41 — 7.9 8.5 2.4 3.4 4.9 6. 1 3 7.0 0. 34 1870
e/ IME — 19.5 18.1 — — >100 — 0. 00 — 7.8 5.6 0.5 0.0 3.2 0.0 1 5.7 0. 26 73
A — 22.3 19.6 — — >100 — 0.75 — 7.8 6.9 1.6 1.2 4.1 3.1 2 6.5 0.30 407
o 64800 104 268
e - - - - - - - '/ H - - - - kg/ H N kg/H N N N N
KB AR EHOMIT, BFEREZRET 5720, UTOFHAERIC > TR L,

H ) = (BAaRe DO 7 — Z I B TR DT — 2 DHEF /13

BRE O BEEAE, 2 TI00LL EOSEAIZ1000L EE L, ZHUANAOEAIZ1000L E41008 L CHBEHZEE LT,
XBODAMEXIZCODAME (g/s) OREHA.--
MRFHOREHA - - -

it (m/ H)
fmE (ke/H)

BODXJZCOD (mg/L) X JR&E (m/s)
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X 60 (sec)
X 60 (sec)




